Unnuuwy 8.11 Urwnuljwy puwlsnipjuy muwyht mumnbunipniuutipu

(punupwjht, gyninuljwa) pun Juquh, qpunbignud
uliywlutinh pyh L puwllijh dwltiptiuh

Pupuwpunh powih Wwnwlwy puwlsnipniup

Unynuuwl 8.11

Suught wmuwm. uqup,

Lunuilitp wmuuyht
ninbunipjmy

Luwlflith dwllipfiup (pun.d)

uliyyulfubiph ehyp dl;i;zh 30-39 | 40-49 | 50-69 | 70-89 | 90-109 1111[(1)111;1
Lunuwdbun 2446 251 200 202 474 469 404 446
Stuurhtr ntun.
punjuguo’
1 wudhg 196 47 33 18 25 26 25 22
2 wudhg 362 52 37 29 69 61 55 59
3 wudhg 405 55 31 42 84 75 62 56
4 wudhg 579 43 47 46 113 124 90 116
5 wudhg 438 31 34 28 91 87 77 90
6 wudhg 273 14 13 22 56 58 51 59
7 L wdtith 193 9 5 17 36 38 44 44
1 ubitiyul] gpuinligting
nfughf i, 710 232 158 54 99 57 47 63
punjuguo’
1 wudhg 100 45 29 8 4 4 6 4
2 wudhg 125 48 34 7 11 8 9 8
3 wudhg 138 50 23 11 22 11 10 11
4 wudhg 154 40 33 10 27 16 8 20
5 wudhg 104 28 26 9 15 8 7 11
6 wudhg 55 12 8 7 13 6 5 4
7 L wdtith 34 9 5 2 7 4 2 5
2 ulitywl] gpunlbiging
nfughf i, 941 19 40 139 283 211 121 128
punjuguo’
1 wudhg 67 2 3 10 20 15 11 6
2 wudhg 144 4 3 21 47 31 20 18
3 wudhg 164 5 8 29 49 32 24 17
4 wudhg 228 3 13 34 62 55 24 37
5 wudhg 175 3 8 18 55 44 20 27
6 wudhg 92 2 5 12 30 15 16 12
7 L wdtith 71 0 0 15 20 19 6 11
3 ulitywly gpuinlighinn
nuwyhu nuw. 579 0 2 9 86 155 168 159
punjuguo’
1 wudhg 22 0 1 0 1 7 7 6
2 wudhg 70 0 0 1 8 18 18 25
3 wudhg 81 0 0 2 13 25 22 19
4 wudhg 149 0 1 2 22 41 40 43
5 wudhg 105 0 0 1 20 25 29 30
6 wudhg 97 0 0 3 13 27 29 25
7 L wdtith 55 0 0 0 9 12 23 11
4 L wlijp ulityywl] gpuinligting
nfughf i, 215 0 0 0 6 45 68 96
punjuguo’
1 wudhg 7 0 0 0 0 0 1 6
2 wudhg 22 0 0 0 3 3 8 8

112




Pupwpunh 2pewth Wunwljwy puwlsnipiminp

Unynuuwl 8.11

Luwlflith dwllipiup (pun.d)
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Suuyght wmuwm. Juqup, o Tis 110 U
uliyywlfubiph ehyp = I 30-39 | 40-49 | 50-69 | 70-89 | 90-109
s 29 unftith
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3 wudhg 22 0 0 0 0 7 6 9
4 wudhg 48 0 0 0 2 12 18 16
5 wudhg 54 0 0 0 1 10 21 22
6 wudhg 29 0 0 0 0 10 1 18
7 L wdtith 33 0 0 0 0 3 13 17
Uliaywlialiph jppp supwo
wmuught nuwn. 1 0 0 0 0 1 0 0
punjuguo’
1 wudhg 0 0 0 0 0 0 0 0
2 wudhg 1 0 0 0 0 1 0 0
3 wudhg 0 0 0 0 0 0 0 0
4 wudhg 0 0 0 0 0 0 0 0
5 wudhg 0 0 0 0 0 0 0 0
6 wudhg 0 0 0 0 0 0 0 0
7 L wtijh 0 0 0 0 0 0 0 0
0
Punupuyh 750 74 62 63 120 164 122 145
Sturht ntn. 0
punjuguo’
1 wadhg 65 19 10 5 7 9 6 9
2 wadhg 108 19 14 8 13 20 17 17
3 wudhg 128 17 10 15 26 22 20 18
4 wudhg 184 10 15 17 30 50 30 32
5 wudhg 120 8 5 6 17 23 28 33
6 wudhg 87 1 6 7 16 22 15 20
7 L wtih 58 0 2 5 11 18 6 16
1 ulitywly gpumbigng
wmuught nuwn. 176 66 48 14 20 15 5 8
punjuguo’
1 wadhg 31 18 9 2 1 1 0 0
2 wadhg 33 16 13 1 2 1 0 0
3 wudhg 39 15 6 3 7 4 1 3
4 wudhg 36 8 10 3 7 5 2 1
5 wudhg 20 8 5 2 1 0 2 2
6 wudhg 10 1 3 2 0 3 0 1
7 L wdlith 7 0 2 1 2 1 0 1
2 uliyyurly gpunligiing
wmuught nuwn. 247 8 14 43 64 60 29 29
punjuguo’
1 wadhg 18 1 1 3 6 4 2 1
2 wudhg 40 3 1 6 8 14 5 3
3 wudhg 45 2 4 10 12 6 6 5
4 wudhg 66 2 5 12 14 18 6 9
5 wudhg 33 0 0 4 8 7 7 7
6 wudhg 21 0 3 4 9 3 2 0
7 L wdlijh 24 0 0 4 7 8 1 4
3 ulitywly gpuinlighinn
wmuught nuwn. 224 0 0 6 33 72 60 53
punjuguo’
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Luwlflith dwllipiup (pun.d)
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uliyywlfubiph ehyp = I 29 30-39 | 40-49 | 50-69 | 70-89 | 90-109
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1 wdhg 12 0 0 0 0 4 4 4
2 wudhg 28 0 0 1 2 4 9 12
3 wudhg 36 0 0 2 7 10 10 7
4 wudhg 62 0 0 2 8 24 12 16
5 wudhg 33 0 0 0 7 11 9 6
6 wudhg 39 0 0 1 7 12 13 6
7 L wlith 14 0 0 0 2 7 3 2
4 b wlijh ubiyuily gpunliging
wmuught nuwn. 102 0 0 0 3 16 28 55
punjugud’
1 wadhg 4 0 0 0 0 0 0 4
2 wudhg 6 0 0 0 1 0 3 2
3 wudhg 8 0 0 0 0 2 3 3
4 wudhg 20 0 0 0 1 3 10 6
5 wudhg 34 0 0 0 1 5 10 18
6 wudhg 17 0 0 0 0 4 0 13
7 L wtih 13 0 0 0 0 2 2 9
Uliaywlialiph jppp supwo
wmuught nuwn. 1 0 0 0 0 1 0 0
punjuguo’
1 wadhg 0 0 0 0 0 0 0 0
2 wadhg 1 0 0 0 0 1 0 0
3 wudhg 0 0 0 0 0 0 0 0
4 wudhg 0 0 0 0 0 0 0 0
5 wudhg 0 0 0 0 0 0 0 0
6 wudhg 0 0 0 0 0 0 0 0
7 L wtirh 0 0 0 0 0 0 0 0
Gyninuljuy 1696 177 138 139 354 305 282 301
Stuurhé ntn.
punjuguo’
1 wadhg 131 28 23 13 18 17 19 13
2 wudhg 254 33 23 21 56 41 38 42
3 wudhg 277 38 21 27 58 53 42 38
4 wudhg 395 33 32 29 83 74 60 84
5 wudhg 318 23 29 22 74 64 49 57
6 wudhg 186 13 7 15 40 36 36 39
7 L wtijh 135 9 3 12 25 20 38 28
1 ulitywly gpumbignng
wmuught nuwn. 534 166 110 40 79 42 42 55
punjuguo’
1 wudhg 69 27 20 6 3 3 6 4
2 wudhg 92 32 21 6 9 7 9 8
3 wudhg 99 35 17 8 15 7 9 8
4 wudhg 118 32 23 7 20 11 6 19
5 wudhg 84 20 21 7 14 8 5 9
6 wudhg 45 11 5 5 13 3 5 3
7 L wtijh 27 9 3 1 5 3 2 4

2 uliywil] gpuinlighinn
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Luwlflith dwllipiup (pun.d)
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uliyywlfubiph ehyp = I 29 30-39 | 40-49 | 50-69 | 70-89 | 90-109 wnlifh
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wmuught nuwn. 694 11 26 96 219 151 92 99
punjuguo’
1 wadhg 49 1 2 7 14 11 9 5
2 wudhg 104 1 2 15 39 17 15 15
3 wudhg 119 3 4 19 37 26 18 12
4 wudhg 162 1 8 22 48 37 18 28
5 wudhg 142 3 8 14 47 37 13 20
6 wudhg 71 2 2 8 21 12 14 12
7 L wtith 47 0 0 11 13 11 5 7
3 ulitywly gpuinlighinn
wmuught nuwn. 355 0 2 3 53 83 108 106
punjuguo’
1 wadhg 10 0 1 0 1 3 3 2
2 wadhg 42 0 0 0 6 14 9 13
3 wudhg 45 0 0 0 6 15 12 12
4 wudhg 87 0 1 0 14 17 28 27
5 wudhg 72 0 0 1 13 14 20 24
6 wudhg 58 0 0 2 6 15 16 19
7 L wdtith 41 0 0 0 7 5 20 9
4 b wlijh ubiayuily gpunligiing
wmuught nuwn. 113 0 0 0 3 29 40 41
punjuguo’
1 wudhg 3 0 0 0 0 0 1 2
2 wudhg 16 0 0 0 2 3 5 6
3 wudhg 14 0 0 0 0 5 3 6
4 wudhg 28 0 0 0 1 9 8 10
5 wudhg 20 0 0 0 0 5 11 4
6 wudhg 12 0 0 0 0 6 1 5
7 L wtijh 20 0 0 0 0 1 11 8
Uliaywlialiph jppp supwo
wmuught nuwn. 0 0 0 0 0 0 0 0
punjuguo’
1 wadhg 0 0 0 0 0 0 0 0
2 wadhg 0 0 0 0 0 0 0 0
3 wudhg 0 0 0 0 0 0 0 0
4 wudhg 0 0 0 0 0 0 0 0
5 wudhg 0 0 0 0 0 0 0 0
6 wudhg 0 0 0 0 0 0 0 0
7 L wdlijh 0 0 0 0 0 0 0 0

* UlipunJuo s60 wuoplwy muwght munbunieymuubpn:
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